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Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2017

Subject Name: Object oriented programming with C++
Subject Code: 2TE040OOP1 Branch: Diploma(CE)
Semester: 4 Date: 12/04/2017 Time: 10:30 To 01:30 Marks: 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Attempt the following questions:
a)  Which of the following is not a type of inheritance.
A. Hybrid. B multiple. C single. D double.
b)  Which of the following is not a valid access specifier in c++?
A Protected B Public C Private D friend
c)  Which of the following header file includes definition of setfill() and endl?
a) istream.h b) ostream.h c¢) iomanip.h d) iostream.h
d) Which of the following cannot be identifier?
A. Defg B)def37 C) 74def  D)AII of above
e)  Which is the symbol of scope resolution operator?
A) ++ B:: C>= D.?
f)  Which of the following approach is adapted by C++?
A.Top-down B Bottom-up C right-left D left-right
g) Aclass for which no object can be created is known as class.
a) Inherited b) Virtual c) Abstract d) Friend
h)  Which of the following concepts means wrapping up of data and functions together?
a) Abstraction b) Encapsulation c) Inheritance d) Polymorphism
i)  What it can be, if a function is having same name as class?
a) Destructor. b) Constructor  ¢) Not allowed d) Both A and B
j)  .H isextension of file.
a) Header b)Heap c)hello d)none
k) What will be output of following code?
int main()

int a=0;
a=a+l;
cout << “a”’<<a;
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return O;

¥
A0 B.1 C.2 D.3

I)  Which of the following is one type of operator?
A. Star B) Friend C) Assignment D) virtual

m) Parent class is also known as
a) Subclass b)super class c)important class d)none
n) From following which is not concept of OOP?
a) Inheritance b)polymorphism c)dynamic binding d)speed binding
Attempt any four questions from Q-2 to Q-8
Q-2 Attempt all questions
A) Explain characteristics of OOP and application of OOP

B) Compare Object Oriented Programming vs procedure oriented programming language.
C) State advantages of OOP
Q-3 Attempt all questions
A) Explain if else and go to statement
B) Explain manipulators with example.
Q-4 Attempt all questions
A) Explain friend function with example.
B) Explain operator overloading and operator overriding.
Q-5 Attempt all questions
A) Explain call by value with example.
B) Explain deconstructor.
C) What is Static variable? Explain with example.
Q-6 Attempt all questions
A) Explain width (), precision (), fill ().
B) Explain member function and member variable
Q-7 Attempt all questions
A) Explain inheritance in detail.
B) Explain constructor and its type.
Q-8 Attempt all questions
A) Explain inline function with example
B) Explain Command line argument with example.
Q-1 Attempt the following questions:

) of|Q WAA HLE ot 8RR ol UsLR otell?
A sLe@s. ofl H@ua. Al RbA. Sl sud.

b) oA wdet 1l Slot A@As wsAU ARSEAR l++ HL o112
AYRses ol uleas dl wsde sl %s

) olA A WA sl 352 S8 setfill() U endl ol cauv2ul €20 B2
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W)istream.h  oll) ostream.h A1) iomanip.n $l) iostream.h
(1A A HEl Slot USSR SR ol ciofl 23

) Defg oll)Def3rll) 74def  Sl)all ofabove
WU YAt BU2R oll Rlud 20W?
zl) ++ Oﬂ - %ﬂ >= ﬂ .?

C++ MU s AUYLU wojyRall HL A B?

A)AU-518at  ofl) ollen-Gu l) ABe-Age Sl) Age-RALe

SAR Boll HIZ Ao (332 oll Ul U Acl sclld o 9 53 B?
W) BedR2s  ofl) adauad ) wogse sl) &S

oL By A 32l Ao Selo 2ER ofl 9 sdcu?

W) Ao etol ofl) WaldwyAaet ) sodR2o  Sl) WAlHBuH
%\ $&lol of ollH SR oll ol B ¥ Sl cll A 9 sl AB?

W) ([Seser. of) sgser Aoz ucdls S aua boia
AR ASAS oMol SLEE U2 AURIA D,

W) 352 ohdlu  AdA SHsE uwl a8l

o(lA WA 8lS of wBeye 9 wlu?

int main()

{

int a=0;
a=atl;

cout << “a”’<<a;
return O;
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oA AU HLell Slot W5 YsIR oll BllUR2R B?

AR o)ss  A)wwgede sl adac
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WA sl olh)yuR st A)sulde sc Slyotat

(1A WA Ha 5lot WAL o1l sleA e o112

WosR2c o)UWc{lililEan A)stset®s cud(Sor shuls cus(Sat

Attempt any four questions from Q-2 to Q-8

Q-2
A)

Attempt all questions
5es2RRRsU s RN WA WABAA s WRAU UHesA
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C++ oll $AEL AHAA
Attempt all questions
8% WA Aol ol g e H2 AU

H A GELSL AU AHHLC.
Attempt all questions
%5 selol BELSM AL AHsAl.

AUReR WARASIL Aal vllure AARSar At
Attempt all questions
sl olle ey BElsR0L WA UM

(3¢ s22 U

RRs ARunA WA 9? GELSTL U UMl
Attempt all questions

width (), precision (), fill )AHsl.

HolR $etot Aa NolRk ARAGA AHHLA
Attempt all questions

SodR2oU [QArclR &l UM

s2 522 GELSVL WA UHAA
Attempt all questions
BolcllEol $lol GELSU A AHHIA

SHIS ALl 1R H2 YHAtcl
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